



ACADEMIC
PRESS

Available at
WWW.MATHEMATICSWEB.ORG
POWERED BY SCIENCE @ DIRECT®
Journal of Functional Analysis 209 (2004) 414–424

**JOURNAL OF
Functional
Analysis**

<http://www.elsevier.com/locate/jfa>

Hamiltonian formulation of energy conservative variational equations by wavelet expansion[☆]

Shigeru Maeda^a and Masami Okada^{b,*}

^a*Department of Mathematics & Natural Systems, Faculty of Integrated Arts & Science,
The University of Tokushima, Tokushima 770-8502, Japan*

^b*Department of Mathematics, Tokyo Metropolitan University, Hachioji 192-0397, Japan*

Received 23 January 2003; accepted 7 February 2003

Communicated by Paul Malliavin

Abstract

Hamiltonian formulation of various energy conservative evolution equations is given by means of wavelet expansion of solutions on the whole real axis R . The KdV equation, wave equations and Schrödinger equations are treated in a unified similar manner. A matrix representation of operators with respect to a nice wavelet base plays an important role in the formulation. Since the procedure is very concrete, our results can be used to efficiently compute numerical solutions of partial differential equations described in the text. In fact, we may also use symplectic schemes to solve derived Hamiltonian systems.

© 2003 Published by Elsevier Inc.

1. Introduction and preliminaries

According to Lax [9], Gardner gave a Hamiltonian formulation of the KdV equation in the periodic case in [7] and Faddeev and Zakharov briefly pointed out a Hamiltonian formulation on the whole real axis [20]. Here in this note we propose to use a suitable wavelet base on the real axis in order to give a more concrete Hamiltonian formulation of a wide class of general evolution equations, such as the KdV equation, which are derived from energy functionals by the Lagrange–Euler

[☆]Partially supported by Grant-in-Aid for Scientific Research (No. 12640100) Ministry of Education, Culture, Sports, Science and Technology, Japan.

*Corresponding author.

variational argument. We believe that our approach is not without interest from practical as well as theoretical point of view.

In this note, we shall use the complete orthogonal system of Daubechies’ wavelets or Coiflets. The system consists of $\psi_{j,k}$, where $\psi_{j,k}(x) = 2^{j/2}\psi(2^jx - k), j, k \in \mathbb{Z}$ with the wavelet function ψ , which has the following nice properties [4].

- Property.** (i) The system $\{\psi_{j,k}, j, k \in \mathbb{Z}\}$ is a complete orthogonal base of $L^2(\mathbb{R})$.
 (ii) ψ is a real-valued function with compact support.
 (iii) For a given positive number N , there exists ψ such that it is a C^N function and moreover the k th moment of ψ vanishes for $k = 0, 1, 2, \dots, N - 1$.

There are many works where wavelet theory is employed in numerical studies of partial differential equations (PDEs). Let us cite e.g., [1–3,10,14,18] as references which are relevant to this note from our point of view.

Let $\{e_n\}$ be a general complete orthogonal base of $L^2(\mathbb{R})$ for the moment. Later, we shall assume that $\{e_n\}$ is the orthogonal system of wavelet $\{\psi_{j,k}\}$. Then the usual Parseval–Bessel formula is stated as follows.

Lemma 1. For any $f, g \in L^2(\mathbb{R})$, we have

$$\sum_n (f, e_n)(e_n, g) = (f, g), \tag{1}$$

where $(,)$ is the inner product.

Let D be the derivation operator $Df = df/dx$ and let D^{-1} be an inverse operator defined by $D^{-1}f(x) = \int_{-\infty}^x f(y) dy$. Note that in general, D^{-1} is defined only with modulo constants and $D^{-1}f \notin L^2(\mathbb{R})$. Although we have fortunately the following fact which is stated as a lemma for the sake of completeness.

Lemma 2. Let us assume that f is compactly supported and $\int_{-\infty}^{\infty} x^k f(x) dx = 0$, for $k = 0, 1, 2, \dots, N - 1$. Then $D^{-m}f \in L^2(\mathbb{R})$ is uniquely represented by

$$D^{-m}f(x) = \frac{1}{(m-1)!} \int_{-\infty}^x (x-t)^{m-1} f(t) dt, \tag{2}$$

for $m = 1, 2, \dots, N$.

Proof. In order to show that the right-hand side of (2) belongs to $L^2(\mathbb{R})$, it suffices to expand $(x-t)^{m-1}$ into $\sum_{k=0}^{m-1} (-1)^k C_k x^{m-1-k} t^k$ and we see easily that

$$\int_{-\infty}^x t^k f(t) dt = 0, \quad k = 0, 1, \dots, m-1, \tag{3}$$

for large $|x|$. The rest of the proof is easy. \square

Corollary 1. Let $\{e_n\}$ be a complete orthogonal system and let f satisfy the conditions of Lemma 2 and let $g \in H^N(\mathbb{R})$, the Sobolev space. Then,

$$\sum_{n \in \mathbb{Z}} (D^{-m}f, e_n)(e_n, D^m g) = (-1)^m (f, g). \tag{4}$$

Proof. Since $D^{-m}f, D^m g \in L^2(\mathbb{R})$, we can use Lemma 1 and the left-hand side is equal to $(D^{-m}f, D^m g)$, from which follows the conclusion by the successive integration by parts. \square

Now let us compute the adjoint operators of D^m and D^{-m} .

Proposition 1. Let ψ_1, ψ_2 be two wavelet functions with preceding nice properties. Then for each positive integer m ($m \leq N$), we have

$$(i) \quad (\psi_1, D^m \psi_2) = (-1)^m (D^m \psi_1, \psi_2), \tag{5}$$

$$(ii) \quad (\psi_1, D^{-m} \psi_2) = (-1)^m (D^{-m} \psi_1, \psi_2). \tag{6}$$

Proof. (i) is immediate by the integration by parts. To prove (ii), note that

$$D^{-m} \psi_2(x) = \frac{1}{(m-1)!} \sum_{k=0}^{m-1} (-1)^k C_k x^{m-1-k} \int_{-\infty}^x t^k \psi_2(t) dt.$$

Therefore,

$$(\psi_1, D^{-m} \psi_2) = \frac{1}{(m-1)!} \sum_{k=0}^{m-1} (-1)^k C_k \left(x^{m-1-k} \psi_1(x), \int_{-\infty}^x t^k \psi_2(t) dt \right).$$

Then by Fubini’s theorem,

$$\begin{aligned} \left(x^{m-1-k} \psi_1(x), \int_{-\infty}^x t^k \psi_2(t) dt \right) &= \left(\int_t^\infty x^{m-1-k} \psi_1(x) dx, t^k \psi_2(t) \right)_{L^2(\mathbb{R}, dt)} \\ &= - \left(t^k \psi_2(t), \int_{-\infty}^t x^{m-1-k} \psi_1(x) dx \right)_{L^2(\mathbb{R}, dt)}, \end{aligned}$$

which implies

$$(\psi_1, D^{-m} \psi_2) = \frac{1}{(m-1)!} \sum_{k=0}^{m-1} (-1)^{k+1} C_k \left(x^k \psi_2(x), \int_{-\infty}^x t^{m-1-k} \psi_1(t) dt \right).$$

Now putting $l = m - 1 - k$, the last sum is equal to

$$(-1)^m \frac{1}{(m-1)!} \sum_{l=0}^{m-1} (-1)^l C_l \left(x^{m-1-l} \psi_2(x), \int_{-\infty}^x t^l \psi_1(t) dt \right),$$

which is nothing but $(-1)^m (\psi_2, D^{-m} \psi_1) = (-1)^m (D^{-m} \psi_1, \psi_2)$. \square

Fix a given orthogonal system of wavelets $\{e_n\} = \{\psi_{j,k}\}$ with nice properties as before. Then let us associate a matrix to the operators, $P = D^m$ and D^{-m} , $m = 0, 1, 2, \dots, N$.

Definition 1. For a given real operator P , we define its representing matrix M_P by

$$(M_P)_{ij} = (e_i, P e_j). \tag{7}$$

Note that M_P is real valued since $\{e_n\}$ is a real-valued base.

Lemma 3. Let $P = RQ$ where $R = D^{m_1}$, $Q = D^{m_2}$ with integers m_1, m_2 satisfying $|m_1| \leq N, |m_2| \leq N, |m_1 + m_2| \leq N$. Then we have

$$M_P = M_R M_Q. \tag{8}$$

Proof. Let us compute any given (i, j) component $(M_R M_Q)_{ij}$. Then

$$\begin{aligned} (M_R M_Q)_{ij} &= \sum_k (e_i, R e_k)(e_k, Q e_j) = \sum_k (R^* e_i, e_k)(e_k, Q e_j) \\ &= (R^* e_i, Q e_j) = (e_i, R Q e_j) = (M_P)_{ij}, \end{aligned} \tag{9}$$

where the adjoint R^* is equal to $(-1)^{m_1} R$ in view of Proposition 1. \square

Let us call P invertible with respect to the base $\{e_n\}$ if and only if $P^{-1} e_k \in L^2(R)$ for each $k \in Z$. Then we have

Corollary 2. If P is invertible, $M_{P^{-1}} = (M_P)^{-1}$.

Remark 1. Lemma 3 holds for any invertible operators Q, R in general, and it plays a key role in the sequel.

Remark 2. Note that there exist other notions of invertibility of operators. In fact, if we take $P = I - D^2$, for example, then by easy computation, we have

$$(I - D^2)^{-1} f(x) = \frac{1}{2} \left\{ e^{-x} \int_{-\infty}^x f(y) e^y dy - e^x \int_x^{\infty} f(y) e^{-y} dy \right\},$$

which belongs to $L^2(\mathbb{R})$, for any integrable function f with compact support. This operator $(I - D^2)$ may be called strongly invertible. Furthermore, there exists a weaker notion of invertibility of possible interest. Namely, we may call an operator P weakly invertible if and only if there exists a complete orthogonal base such that P is invertible with respect to this base. However, this issue may need further investigation.

2. Energy functionals and variational method

Let us follow the notation and the functional calculus employed in Gardner [7]. From now on we shall assume $u = u(x, t)$ be a real function of $x \in \mathbb{R}$ and $t > 0$, and $G = G(u, u_x, u_{xx}, \dots)$ be a real function of u, u_x, u_{xx}, \dots . Let

$$F(u) = \int_{-\infty}^{\infty} G(u, u_x, u_{xx}, \dots) dx$$

be the corresponding functional. Then as is well known, its Euler–Lagrange derivative $\frac{\delta F}{\delta u}$ is given by

$$\frac{\delta F}{\delta u} = \frac{\partial G}{\partial u} - \partial_x \left(\frac{\partial G}{\partial u_x} \right) + \partial_{xx} \left(\frac{\partial G}{\partial u_{xx}} \right) - \dots \tag{10}$$

Now we semi-discretize u , i.e., we expand $u(x, t)$ for each fixed $t > 0$ by means of our orthogonal system $\{e_n\}$, in such a way that

$$u(x, t) = \sum_n c_n(t) e_n(x). \tag{11}$$

Then by the chain rule,

$$\frac{\partial F}{\partial c_n} = \int_{-\infty}^{\infty} \frac{\delta F}{\delta u} \frac{\partial u}{\partial c_n} dx = \int_{-\infty}^{\infty} \frac{\delta F}{\delta u} e_n dx = \left(\frac{\delta F}{\delta u}, e_n \right). \tag{12}$$

Therefore, we obtain

$$\frac{\delta F}{\delta u} = \sum_n \frac{\partial F}{\partial c_n} e_n. \tag{13}$$

Note that $F(u)$ can also be considered as a function of an infinite vector $\mathbf{c} = \mathbf{c}(t) = (\dots, c_{-1}, c_0, c_1, \dots)^t$ for any fixed t . We shall denote $F(\mathbf{c}) = F(u)$ without ambiguity. Let A be an infinite matrix $A = (a_{ij}), a_{ij} \in \mathbb{R}$. Then we put $\mathbf{b} = A\mathbf{c}$ to define a change of variables from \mathbf{c} to \mathbf{b} . Let $\nabla_{\mathbf{c}} F$ be the gradient, i.e., the infinite vector defined by $\nabla_{\mathbf{c}} F = \left(\frac{\partial F}{\partial c_n} \right)_{n \in \mathbb{Z}}$ and let $\nabla_{\mathbf{b}} F$ be defined in the same way. Then we have

the change of variable formula as follows. Here, keep in mind that $\nabla_{\mathbf{c}}F$ depends only on t .

Proposition 2. *Under the change of variables, $\mathbf{b} = A\mathbf{c}$, we have*

$$\nabla_{\mathbf{c}}F = A^t \nabla_{\mathbf{b}}F, \quad \text{where } A^t \text{ is the transpose of } A. \tag{14}$$

3. PDE of type $\partial_t u = P(\frac{\delta F}{\delta u})$, $P^t = -P$

In this section, we assume that the real operator P is invertible and antisymmetric, i.e., $P^* = P^t = -P$. Then we have

Theorem 1. *Let P be a linear and invertible real antisymmetric operator. Then a PDE of type*

$$\partial_t u = P\left(\frac{\delta F}{\delta u}\right) \tag{15}$$

is reduced to a Hamiltonian system with Hamiltonian $H = F$.

Proof. Let u be a solution of the PDE. On the one hand, applying P to (13) we have

$$P\left(\frac{\delta F}{\delta u}\right) = \sum_n \frac{\partial F}{\partial c_n} P e_n = \sum_n \frac{\partial F}{\partial c_n} \left\{ \sum_k (P e_n, e_k) e_k \right\} = (\dots, e_k, \dots) M_P \nabla_{\mathbf{c}} F. \tag{16}$$

On the other hand, since $\partial_t u = \sum_k \dot{c}_k(t) e_k(x)$, (15) is equivalent to $\dot{\mathbf{c}} = M_P \nabla_{\mathbf{c}} F$. Now we define \mathbf{d} by $\mathbf{d} = M_P^{-1} \mathbf{c}$. Then by Corollary 2,

$$\dot{\mathbf{d}} = M_P^{-1} \dot{\mathbf{c}} = M_P^{-1} M_P \nabla_{\mathbf{c}} F = \nabla_{\mathbf{c}} F.$$

Next, by Proposition 2, $\nabla_{\mathbf{c}} F = (M_P^{-1})^t \nabla_{\mathbf{d}} F$, which implies

$$\dot{\mathbf{c}} = M_P \nabla_{\mathbf{c}} F = M_P (M_P^{-1})^t \nabla_{\mathbf{d}} F.$$

Here recall that P is assumed to be real antisymmetric, i.e., $P^* = P^t = -P$; therefore,

$$M_P^t = -M_P \quad \text{and thus } (M_P^{-1})^t = -M_P^{-1}. \tag{17}$$

Consequently, we have $\dot{\mathbf{d}} = \nabla_{\mathbf{c}} F$ and $\dot{\mathbf{c}} = -\nabla_{\mathbf{d}} F$.

Finally, if we put $\mathbf{p} = \mathbf{c}$ and $\mathbf{q} = \mathbf{d}$, the pair (\mathbf{q}, \mathbf{p}) obeys the Hamiltonian dynamics with Hamiltonian $H = F$, i.e.,

$$\begin{cases} \dot{\mathbf{q}} = \nabla_{\mathbf{p}} H, \\ \dot{\mathbf{p}} = -\nabla_{\mathbf{q}} H. \end{cases} \quad \square \tag{18}$$

Example 1. (i) $P = D^m$ where m is an odd integer, $|m| \leq N$.

(ii) $P = D - D^3$.

(iii) $P = D$ and $F(u) = \int (\frac{u^3}{6} - \frac{1}{2}u_x^2) dx$.

Note that in the last case, we get the KdV equation on R , $u_t = uu_x + u_{xxx}$.

4. PDE of type $\partial_t^2 u = (-1)^{\chi(P)+1} P^2 \left(\frac{\delta F}{\delta u} \right)$, $P^t = \pm P$

Let us assume that P be an invertible real operator. We assume further that it is either symmetric or antisymmetric. We denote by $\chi(P)$ its signature,

$$\chi(P) = \begin{cases} 0 & \text{if } P \text{ is symmetric,} \\ 1 & \text{if } P \text{ is antisymmetric.} \end{cases}$$

Then we have the following.

Theorem 2. *Let P be a linear and invertible real operator which is either symmetric or antisymmetric. Then a solution u of*

$$\partial_t^2 u = (-1)^{\chi(P)+1} P^2 \left(\frac{\delta F}{\delta u} \right) \tag{19}$$

corresponds to a solution of a Hamiltonian dynamics with the Hamiltonian H derived from F .

Proof. Applying P^2 to (13), we have as before

$$P^2 \left(\frac{\delta F}{\delta u} \right) = \sum_n \frac{\partial F}{\partial c_n} P^2 e_n = \dots = (\dots, e_k, \dots) M_{P^2} \nabla_{\mathbf{c}} F. \tag{20}$$

Therefore, (19) is equivalent to

$$\ddot{\mathbf{c}} = (-1)^{\chi(P)+1} M_{P^2} \nabla_{\mathbf{c}} F. \tag{21}$$

Now we define \mathbf{q} by $\mathbf{q} = M_P^{-1} \mathbf{c}$. Then

$$\ddot{\mathbf{q}} = M_P^{-1} \ddot{\mathbf{c}} = M_P^{-1} (-1)^{\chi(P)+1} M_{P^2} \nabla_{\mathbf{c}} F$$

and since $(M_P)^t = (-1)^{\chi(P)} M_P$,

$$\nabla_{\mathbf{c}} F = (M_P^{-1})^t \nabla_{\mathbf{q}} F = (-1)^{\chi(P)} M_P^{-1} \nabla_{\mathbf{q}} F,$$

which implies

$$\dot{\mathbf{q}} = (-1)^{\chi(P)+1} M_P^{-1} M_P^2 (-1)^{\chi(P)} M_P^{-1} \nabla_{\mathbf{q}} F = -\nabla_{\mathbf{q}} F. \tag{22}$$

Finally, if we define H by

$$H = \frac{1}{2} \sum_k \dot{q}_k^2 + F(\mathbf{q}), \tag{23}$$

then it is easy to see that the pair $(\mathbf{q}, \mathbf{p} = \dot{\mathbf{q}})$ obeys the Hamiltonian dynamics with the above H . \square

Example 2. (i) $P = D^m$ with $|m| \leq N/2$, $\chi(P) = \frac{1}{2}\{1 - (-1)^m\}$.

(ii) $P = (I - D^2)^\alpha$, with $\alpha \in \mathbb{R}$, $|\alpha| \leq N/4$, $\chi(P) = 0$.

(iii) $P = D$ and $F(u) = \int_{-\infty}^{\infty} (e^u - u - 1) dx$.

The PDE $u_{tt} = (e^u)_{xx}$ is obtained from the last example, whose numerical solution is computed in [8] by an alternative energy-conserving computational scheme called discrete variational method. See [6,12] and references therein on the discrete variational method.

5. PDE of the form $-i\partial_t u = P(\frac{\delta F}{\delta \bar{u}})$, $P^t = P$

In this section, u is allowed to be complex valued.

Theorem 3. *Let P be a linear and invertible real symmetric operator. Then the equation*

$$-i\partial_t u = P\left(\frac{\delta F}{\delta \bar{u}}\right) \tag{24}$$

is reduced to a Hamiltonian dynamical system in a canonical way.

Proof. We separate u into real and imaginary parts, $u = u_R + iu_I$. Note that

$$\frac{\delta}{\delta \bar{u}} = \frac{1}{2} \left(\frac{\delta}{\delta u_R} + i \frac{\delta}{\delta u_I} \right).$$

Then (24) is equivalent to

$$-i(\partial_t u_R + i\partial_t u_I) = \frac{1}{2} \left(P \frac{\delta F}{\delta u_R} + iP \frac{\delta F}{\delta u_I} \right), \tag{25}$$

namely to

$$\partial_t u_R = -\frac{1}{2}P\left(\frac{\delta F}{\delta u_1}\right) \quad \text{and} \quad \partial_t u_1 = \frac{1}{2}P\left(\frac{\delta F}{\delta u_R}\right). \tag{26}$$

Putting

$$u_R = \sum_k c_k e_k \quad \text{and} \quad u_1 = \sum_k d_k e_k,$$

where c_k and d_k are real functions of t , we have by the same argument as before,

$$\frac{\delta F}{\delta u_R} = \sum_k \frac{\delta F}{\delta c_k} e_k \quad \text{and} \quad \frac{\delta F}{\delta u_1} = \sum_k \frac{\partial F}{\partial d_k} e_k. \tag{27}$$

Therefore, as in the preceding sections, we see that (26) is equivalent to

$$\dot{\mathbf{c}} = -\frac{1}{2}M_P \nabla_{\mathbf{d}} F \quad \text{and} \quad \dot{\mathbf{d}} = \frac{1}{2}M_P \nabla_{\mathbf{c}} F. \tag{28}$$

Now we define new coordinates \mathbf{r} and \mathbf{s} by $\mathbf{r} = \sqrt{2}M_P^{-1}\mathbf{c}$ and $\mathbf{s} = \sqrt{2}\mathbf{d}$, from which follows

$$\dot{\mathbf{r}} = -\frac{1}{\sqrt{2}}\nabla_{\mathbf{d}} F \quad \text{and} \quad \dot{\mathbf{s}} = \frac{1}{\sqrt{2}}M_P \nabla_{\mathbf{c}} F.$$

Therefore, by Proposition 2,

$$\nabla_{\mathbf{c}} F = \sqrt{2}(M_P^{-1})^t \nabla_{\mathbf{r}} F = \sqrt{2}M_P^{-1} \nabla_{\mathbf{r}} F, \tag{29}$$

because of the symmetry assumption on P and also we see easily $\nabla_{\mathbf{d}} F = \sqrt{2}\nabla_{\mathbf{s}} F$. Consequently, combining the above equalities, we obtain $\dot{\mathbf{r}} = -\nabla_{\mathbf{s}} F$ and $\dot{\mathbf{s}} = \nabla_{\mathbf{r}} F$.

Finally, putting $\mathbf{p} = \mathbf{r}, \mathbf{q} = \mathbf{s}$, $H = F$, we arrive at the Hamiltonian equation: $\dot{\mathbf{p}} = -\nabla_{\mathbf{q}} H$ and $\dot{\mathbf{q}} = \nabla_{\mathbf{p}} H$. \square

Example 3. (i) $P = D^{2m}$ with $|m| \leq N/2$.

(ii) $P = (I - D^2)D^2$, $4 \leq N$.

(iii) $P = I$ and $F(u) = \int (|u_x|^2 + \gamma|u|^4) dx$, with $\gamma \in \mathbb{R}$.

Note that the last case corresponds to the Schrödinger equation with cubic nonlinearity.

6. Application to numerical computation—symplectic schemes

Let us briefly indicate a promising application of the preceding Hamiltonian formulation for solutions of energy conservative PDEs. In fact, we have reduced solving PDEs to solving the corresponding infinite-dimensional Hamiltonian

dynamical systems:

$$\begin{cases} \dot{\mathbf{q}} = \nabla_{\mathbf{p}} H, \\ \dot{\mathbf{p}} = -\nabla_{\mathbf{q}} H. \end{cases}$$

To solve this Hamiltonian system numerically, we can use symplectic schemes. A symplectic scheme is a difference scheme which preserves the symplectic structure of numerical solutions and furthermore its numerical solutions stay in a small neighborhood of the orbits of the true solutions of the original equations forever. To cite only a few, see e.g., [5,11,13,15] for bibliographies. Let us mention in particular that Yoshida [19] and Suzuki [17] independently found concrete mathematical procedures to derive a symplectic scheme of a desired high order of approximation. Application of the symplectic method to the nonlinear Schrödinger equation is already investigated in [16].

Case studies with numerical simulation may be reported elsewhere.

Acknowledgments

We thank Professors P. Malliavin and T. Mitsui for their encouragement. We are also grateful to Professors B. Gaveau and M. Tsuji for stimulating discussions.

References

- [1] S. Bertoluzza, G. Naldi, A wavelet collocation method for the numerical solution of partial differential equations, *Appl. Comput. Harm. Anal.* 3 (1996) 1–9.
- [2] G. Beylkin, R. Coifman, V. Rokhlin, Fast wavelet transforms and numerical algorithms I, *Comm. Pure Appl. Math.* 43 (1991) 141–183.
- [3] G. Beylkin, J.M. Keiser, On the adaptive numerical solution of nonlinear partial differential equations in wavelet bases, *J. Comput. Phys.* 132 (1997) 233–259.
- [4] I. Daubechies, *Ten Lectures on Wavelets*, SIAM, Philadelphia, 1992.
- [5] K. Feng, M. Qin, *The Symplectic Methods for the Computation of Hamiltonian Equations*, Lecture Notes in Mathematics, Vol. 1297, Springer, Berlin, 1987, pp. 1–37.
- [6] D. Furihata, A stable and conservative finite difference scheme for the Cahn–Hilliard equation, *Numer. Math.* 87 (2001) 675–699.
- [7] C.S. Gardner, Korteweg–de Vries equations and generalizations, IV. The KdV equation as a Hamiltonian system, *J. Math. Phys.* 12 (1971) 1548–1551.
- [8] C. Hirota, T. Ide, N. Fukuoka, M. Okada, Generalized energy integrals and energy conserving numerical schemes for partial differential equations, Preprint, 2001.
- [9] P.D. Lax, Periodic solutions of the KdV equation, *Comm. Pure Appl. Math.* 28 (1975) 141–188.
- [10] J. Liandrato, V. Perrier, Ph. Tchamitchian, Numerical resolution of nonlinear partial differential equations using the wavelet approach, in: M.B. Ruskai, G. Beylkin, R. Coifman, I. Daubechies, S. Mallat, Y. Meyer, L. Raphael (Eds.), *Wavelets and Their Applications*, Jones and Bartlett, Boston, 1992.
- [11] S. Maeda, Symplectic Runge–Kutta methods from the viewpoint of symmetry, *J. Math. Tokushima Univ.* 34 (2000) 15–22.
- [12] T. Matsuo, D. Furihata, Dissipative or conservative finite-difference schemes for complex-valued nonlinear partial differential equations, *J. Comput. Phys.* 171 (2001) 425–447.

- [13] R. McLachlan, R. Quispel, *Six Lectures on the Geometric Integration of ODEs*, Lecture Note Series, Vol. 284, London Math. Soc., London, 2001, pp. 155–210.
- [14] H.L. Resnikoff, R.O. Wells Jr., *Wavelet Analysis*, Springer, New York, 1998.
- [15] J.M. Sanz-Serna, M.P. Calvo, *Numerical Hamiltonian Problems*, Chapman & Hall, London, 1994.
- [16] N. Sasa, H. Yoshida, Symplectic integrators for nonlinear Schrödinger equation, *Trans. Japan Soc. Indust. Appl. Math.* 10 (2) (2000) 119–131 (in Japanese).
- [17] M. Suzuki, General theory of fractal path integrals with applications to many-body theories and statistical physics, *J. Math. Phys.* 32 (2) (1991) 400–407.
- [18] T. Ueno, T. Ide, M. Okada, Wavelet approximation and symplectic method to design numerical schemes for partial differential equations, *Proceedings of VI Congresso della Società Italiana di Matematica Applicata e Industriale*, Chia Laguna, 27–31, maggio, 2002.
- [19] H. Yoshida, Construction of higher order symplectic integrators, *Phys. Lett. A* 150 (5–7) (1990) 262–268.
- [20] V.E. Zakharov, L.D. Faddeev, Korteweg–de Vries equation: a completely integrable Hamiltonian system, *Funct. Anal. Appl.* 5 (4) (1971) 280–287.

Further reading

M. Toda, *Nonlinear Waves and Solitons*, Kluwer Academic Publishers, Dordrecht, 1989.